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2 max speed = Wa = 12503 = 3.6ms
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Let FF obethe Torce that the glue exerts on Q

loree = mass x aceeleration
< i » mg + IF = mf
| A B 0.2(98) + F = 02(43.2)

I© = 068N

rwhen R=0

) Inthe absence of glue, Qwill leave the

B strikes the wall with velocity u (1 +e) and rebounds with velocity eu (1 +¢)

2 2 mg — R = ml
%
=X = e i S, S mg — 0 = mwx
u(l—e) ufl +e) eu(l+e)
2 2 Z 08 = I+x
2 vy = 0.068m
X o= 2¢
e 2 fengthof spring = 1.2 — 0.068 = 1132 m
Q_@ Time for B to reach the wall = distance = | 2 2
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